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e) State hypotheses for determining if there is an' association between age and price, and conduct a hypothesis test on

‘the slope of the LSRL. Use the p-value to write a conclusion statement in context.
f) Now use the data to create a 95% confidence interval. Explain what the interval means in context.
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Chhpter 27 Practice Quiz -
AP Statistics Quiz A ~ Chapter 27

Name

A college admission s counselor was interested in finding out how we

H high school grade point

averages (HS GPA) predict first-year college GPAs (FY GPA). A random sample of data from

first-year students was reviewed to obtain high school and first-year college GPAs. The data are

shown baiaw

HS GPA | 3.82 13,90 | 3.20 | 3.40 | 3.88 | 3.50

3.60

3.70

FYGPA |3751345|260]295]13.50]2.76

3.10

3!46

HS GPA [ 4.00 | 3.30 [ 3.50 | 3.80 | 3.87 | 4.00

3.20

3.82

FY GPA 13.90 270 | 3.00 ] 3.00 [ 3.10 | 3.77

2.80

3,54

Dependent variable is:  FY GPA

Mo Selectar

R squared = 754% R pquared {adjusted) = 73,6%
g 0,211% with 16-3= 14 degrees of firvedom

df
I
14

Feratia
425

 Sum of Bquans
1.92283
0.627867

Meanr Sguare
192283
01144848

Source
Regression
Residont

t-ratio
“241&
655

8.2, of Goeff
07306
0.1993

Coeftficiont
1, 56410
130527

Yariahls
Constant
HS GPA.

prot
0.0504
= 0.0001

1. TIs there evidence of an association between high school and first-
year college GPAs? Test an appropriate hypothesis and state your
conclusion in the proper context.
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2. Create and interpret a 5% confidence interval for the slope of the regression line.
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